
 

 

 

 

 

 WINCH MOUNT INSTALLATION INSTRUCTIONS 

                               YAMAHA 

    03-06 4000/450 Kodiak -  04-06 350 Bruin 

    07-08 400/450 Grizzly – 07-13 350 Grizzly                               NOTE: Fairlead is not included with this mount kit 

 

                       

 

1 – Temporarily remove the top two skid plate bolts and then remove the front bumper. 

2 – Install the fairlead bracket to the winch mount wit the 5/16 x 3/4 bolts and nylock nuts. 

3 – Install the winch mount on to the bumper to the forward tabs using the 5/16 x 3/4 bolts, washers and nylock nuts 

      Washers will go on bottom side. 

4 – Install winch to winch mount plate using hardware provided with winch. If winch is on back of plate make sure cable  

      Is coming of the top of the drum. 

5 – Re-install the bumper onto ATV lining the back tabs of the winch mount up with the upper bumper legs and use the 

      8mm x 20mm flange bolts on the middle bumper leg location.  Re-attach the skid plate also. 

6 – Attach fairlead to fairlead bracket with hardware provided with winch and wire to their instructions. 

 

 

FOR QUESTIONS OR COMMENTS PLEASE CALL: 320-964-1616  ( 7:00 to 4:30 CST )                                            INST1567 

ITEM QTY. PART# DESCRIPTION

1 1 1567-1 Winch Mount Plate

2 1 1567-2 Fairlead Bracket

3 4 HDW2050 5/16 x 3/4 Hex Bolt

4 4 HDW7058 5/16 Nylock Nut

5 2 HDW9003 5/16 Flat Washer

6 2 HDW1051 8mm x 20mm Flange Head Bolt


